A=A

7171224 71EAt Al

)

=
e

AlZF: 100

3

T0 T0

A 1A (A

3

7=A A 91

T o
=

7 lEAt

A5

=9

pTEz
o |

EZ

tAl2. (Z103d)

°

10 24| delisto] 2%

=
S

x Chg 27

OF:

0

=Ll

e =EaN |~

O

E{(Stormcepter)

N

6.

7. Darcy #H2I(Darcy's law)

X0
wjr
ol
=
N{0
%0
Ho
oT
B

<k
O



7171224 7l2At Ald=A|

21EA A 91 3 A 2 BAl (AEAIZE 100 8)

2 e A e 2
ot E= z=2 ot 7|EAl S o
% OS2 24 S 4 22X HEisto] dY5tA |2, (2425 )

1 .7 O[SIO[E}. O{2tAf oS A
oS 2B,

= =2o©°

A2
iﬂf = OlwE 2F5tAI=2.

2. EI=Al9l 542§ 485
AN=2o| EtETF ZZF 30 NTU
3. StEAe[Fel MR AAA, dEEEZE REF7t 2SAMAZ RYA
FUEAA AL I A0 2] L AOFSIE0]| it 7|=5tAl2
4. e U9 dMHES FRA0AM M HEE H2|5t0 +HSI=E HASHIAt
b2t =50 AL

5. &Uldastel el 2 FlAof Cis

CH240]| CHotO] 2FotA|L,

6. 00 A9 St H| 7|=A 2 S +~EHE



A=A

7171224 71EAt Al

)

=
e

AlZF: 100

|
[—]

0 To

A 3 Al (Al

3

=il Al 91

0 o]
S+ =

7 lE At

A5

pIEx
=9
o /|

E=2

IH o

A2, (225 3)

to] 235

o

3
ok

| 0{0F

b

. Alzlof| 29

=X
=]

A
e

FA| 2.

A =
=0

Cioto] 7|

SHA| 2.

o
<

AFetol| Chstod 2

StA| 2.



A 7:' A =] O
717|214 7|=At Al 24
At A 91 = A 4 1Al (AEAIZE 100 2)
= A4 ) = g
of EZ ze ot |sAb WE o
% O 24 & 4 248 Meisto] 2H5HA |2, (2425 3)
1. B2 £ A, BAO|Q OpH&EMLEE e 0f AHESH= Hazen-Williams 34101 A
Ce YEHHS= 1000| AHEEICH BHH 2A2E sfMe dis 29| MA CIUS
T5t0{0F ot= 27t UL =2 5tEl HZ0|A T Ao =2 Sot0] A C 2
PEHe 2SS MAUSIA|. o, & 2| A, BAIO|O| ZtZQ| Hgt= glon, HAZO|L}
7|Ef D|AEHE REoteE Ax QTR 7HYSHAI2.,
2. O ZzE &BH0] gl AHUME EHs2A| 2HP=YUUSRE O|Est 6t
CIO|E{O|Ct. Ol&2 EUZ He|HdAAl O|85l= st A4 (kinetic parameter)
k(ZICH7|20lE45%, 1/d), Ks(ZE2HE4, mg/l), um(ZICiHSALSE, 1/d), kd(
A7| 2ol S =4, 1/d)E FotAlL
50 #&f/I25=(BODS) M& | Somg/L | S, mg/L | 6=6c,days | X, mgVSS/L
S:3e2|® 77|28 <(BOD5) 1 250 8 35 130
B=c : 2| SHAH|RAIZE i R 2 128
_ 3 250 16 18 131
=5 A[HFAIZH
4 250 28 1.2 135
X SHNOMS ST
dnla= 5 250 40 12 125
2 -1




A=A

7171224 71EAt Al

)

=
e

AlZE 100

|
[—]

30 B

Al 4 Al (A

3

=il Al 91

10 o]
<+ 5

7 lE At

A5

pIE:
=9
o /|

E=2

| IOy

oo

to4 Ct
S242{29 5&7F 16,000mg/LO|2 £

Sc1[0f| TS

51
0.5m O|C},

ol
U=

7| =& Co7} 3,200mg/L

4. =

-
[

JAE =0
O] 500m?*/&¥

TotA| 2.

=

2R

F

0

OF
OF

g

0.6

05

=+ o ]

S o o
(whloBiglk [xl2®

01

50

40

[=]

K

7

20 Al

10

£

a M N < | —
.ﬂn%32.,|.1.m.
e olo|lo|o
=

H_I QOO |O
NN IR
<

22| Al 20l A

A
e

J

°

T2

CHotOd

5.

Al 2.

1o}

&0

(o]
A

z|2 RelL2tolM 24171 =2

6.

StAI2.

@o
X

F0f =

=G, olof tis

o3
r

b

2|5



7171224 7l2At Ald=A|



